Spring ‘06/MAT 140/Worksheet 2  Name: S ﬁ?&nJ’h\\ﬂ Show all your work.

1. (6pts} Simplify:
8) (32 —1)(—20+5) = ~6X +|7x~S

b) (x+6)(x — 6) —4x(3z — 5) = xl--?,-fa ~ 2%+ 20x
= —{Ix*y4 QUﬁ*EG

1 1
¢) (z°+3x—5)dr—1) = 4y + xt=2d0—%=3xt+ §

= 4475 |[x*- ?_3*-'{5"

2. (3pts) Verify the formula for the cube of a sum by multiplying out the factors:

(z+a)=(@+aP(z+a)= (¥4 2x6 +6")(x+4) =

=

! 1 ] 5
= ;{+2;(1,;q4 ﬂi{riﬂ#?fﬂ-}-ﬁ =

== 3

3 . - L 3
= ¥ ¥ j}‘.’iﬂl IRa + U

3. (5pts) Use formulas to expand:

% 1
a) {3.‘1"—5]!= (1?;{}”23){5—&- \S_ = ‘5‘1‘}{1—30?**25

g 2 ot s " |
b) 2z +4P= (J2)+ B(2x) -4 + 3(20)4 +9

et

= 9 w9 Uox + A




4. (8pts) Factor the following. Use either a known formula or a factoring method.
a) 22 ~22-35= (X~7)x+S)

pro==3tiy &
Stassg = =)

by 62— Te—10= Gx=12x+x~ 0= Gx (x~2) +5(x~2)
AC=—€0
pmof:—GG 2.5 = (QK-’I- SX}(—E}

foeg =

¢) o¥ +125 = ){15"1} 6(+5)(>{L_5'; 425)

9. (8pts) Simplify.
r+1 Dy—3 X4 | Z2x~3

5 S = i :
264" F+Te=8 H-piyif) (x+5)(x=1)
Gol-) + (2-D(e8) X =] + 2x=lx+29

a)

(X=§) (x4 D) (x4 1) (~&) G §) [x-1)

B o 9% +23
'.x_t?)l/)(t'ﬁj(:-‘{'f—r}

R T

b]‘ = —4 = fi‘ | X"FK—CF X"I“‘:’_
T+1 = - e
) ;:_ X -9 Kt

- x4
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